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Linearized knot diagam
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Solving Sequence

. 410 » 5 > - - - 0 — — 8 > 3 — — Co, C
A kot dingranf] A0 52112621220 21 28 232 7> 000

Ideals for irreducible component#ﬂ)f Xpar

I = — P+ 20+ 1)

* 1 irreducible components of dim¢ = 0, with total 87 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (ud" —uB® 4 ... + 203 + 1)

(i) Arc colorings

—ull 4+ 6w — 1247 + 8u® — ud + 2u
—u +5u? —8u” +3ud +udt+u
—ul® 4+ 6ult — 130w + 1207 — 6ud +4ud —u )

ayp =
ag = \ 'S — 7u? 4+ 18u! — 19u® + 6u” — 2u® + 4u +u
—u? 4 13u20 . — w1

w0 — 14u®® + - 4 But 4 u?

u — 32087 4+ - 2ud +u

—u™ +33u% + - —3u® +u
(—u37—|—18u35—|—--- — 2u3 —u)

asz =
a9 =
a7: _u37+17u35+..+u3+u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 160u® + - -+ + 4u? + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ST+ 41680 - 4 20 + 1

C2,Cq uST — w4 2u—1
€3 uB” +u® 4. 42000 — 676

C4,Cs5, C10 W+ u® 42— 1

cr uB” — 3uBS ...+ 1868u — 369
cs w4+ 110+ —du 41

¢y, C12 u®T — 1360 + -+ 6720 — 23
ci1 u®" — 3u® + - — T60u + 1491




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 YAy e —dy — 1

C2,Cq Y =AYy 2 -1
c3 y87 _ 25y86 + -+ -+ 2553368y — 456976

C4, Cs, C10 y*T —81y%0 + .+ 6y* — 1

cr y®7 + 19y% + .- — 3993896y — 136161
cs y87_y85+...+276y—1

Co, 1 y87 + 71y86 + .-+ — 2068y — 529
11 y87 _ 29y86 + .-+ 72372232y — 2223081




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—=1C8S) Cusp shape
= 1.156780 4 0.1294391 —0.70238 — 4.446701 0
= 1.156780 — 0.12943971 —0.70238 + 4.446701 0
= —1.190410 4 0.1142281 1.68051 — 0.084811 0
= —1.190410 — 0.11422871 1.68051 + 0.084811 0
= 1.197740 4 0.1617161 —2.06048 + 3.054661 0
= 1.197740 — 0.1617161 —2.06048 — 3.054661 0

—0.394345 + 0.684266.1

1.51716 — 12.428101

2.28821 4 10.310321

—0.394345 — 0.6842661

1.51716 + 12.428101

2.28821 — 10.310321

0.397280 + 0.6777771

3.75424 + 7.369381

5.55912 — 6.474331

0.397280 — 0.6777771

3.75424 — 7.369381

5.55912 + 6.474331

0.411947 + 0.6614421

4.96694 + 5.070891

7.17620 — 6.667771

0.411947 — 0.6614421

4.96694 — 5.070891

7.17620 4 6.667771

—0.422450 + 0.6507661

3.87197 — 0.215461

5.49137 + 0.724361

—0.422450 — 0.650766.1

3.87197 + 0.215461

5.49137 — 0.724361

—0.383227 4 0.6698701

—0.89151 — 4.807231

—0.97957 + 5.109751

—0.383227 — 0.6698701

0.89151 4 4.807231

—0.97957 — 5.109751

—0.526813 + 0.5588411

2.05288 4 8.274571

3.75896 — 4.309121

—0.526813 — 0.5588411

2.05288 — 8.274571

3.75896 + 4.309121

—0.477712 4 0.5970051

4.10203 — 3.896741

6.13861 + 5.882741

—0.477712 — 0.5970051

4.10203 + 3.896741

6.13861 — 5.882741

0.515570 + 0.5623351

4.24183 — 3.239721

7.01693 + 0.297881

0.515570 — 0.5623351

4.24183 + 3.239721

7.01693 — 0.297881

0.490448 + 0.5829371

5.29751 — 0.958471

8.28381 + 0.092631

0.490448 — 0.5829371

5.29751 4 0.958471

8.28381 — 0.092631

—0.503329 + 0.5355501

—0.358919 4 0.7974041

0.536680 + 1.1519081

—0.503329 — 0.5355501

—0.358919 — 0.7974041

0.536680 — 1.1519081

—1.255210 + 0.2039931

—1.51650 — 2.929451

0

—1.255210 — 0.2039931

—1.51650 + 2.929451

0

0.332557 + 0.6272421

—2.65475 + 5.153431

—2.54076 — 7.530671

||| |22 || |2(g|e|e|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

0.332557 — 0.6272421

—2.65475 — 5.153431

—2.54076 + 7.530671




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = —1.29153 2.70892 0
u = —1.275740 + 0.2214121 0.38686 — 10.534801 0
u = —1.275740 — 0.2214121 0.38686 4 10.534801 0
uw=1.279400 + 0.2093051 2.71537 4 5.684591 0
uw=1.279400 — 0.2093051 2.71537 — 5.684591 0
u= 1306270+ 0.1744741 4.06397 4 4.135331 0
u= 1.306270 — 0.1744741 4.06397 — 4.135331 0
u = —0.354989 + 0.5789541 0.51266 — 1.7118871 2.60562 + 3.922321
u = —0.354989 — 0.5789541 0.51266 + 1.711881 2.60562 — 3.922321
u = —1.332530 + 0.1232401 3.22730 4 0.034391 0
u = —1.332530 — 0.1232401 3.22730 — 0.034391 0
U 0.079050 + 0.6402461 —3.79331 + 7.397061 —4.18948 — 7.639571
uw=0.079050 — 0.6402461 —3.79331 — 7.397061 —4.18948 + 7.639571
u=0.269882 4+ 0.5831251 —2.06224 — 2.164721 —1.83071 — 0.202361
u= 0.269882 — 0.583125] —2.06224 4 2.164721 —1.83071 + 0.202361
u= 0.040574 + 0.6297441 —5.47859 — 0.113391 —7.64972 — 0.437551
u= 0.040574 — 0.6297441 —5.47859 + 0.113391 —7.64972 + 0.437551

= —0.078398 4 0.6185851

~
e
|

—1.47306 — 2.666721

—1.11507 + 4.128401

= —0.078398 — 0.6185851

—1.47306 + 2.666721

—1.11507 — 4.128401

U
u = 1.389750 + 0.0200231 6.81321 4 0.994791 0
u= 1389750 — 0.0200231 6.81321 — 0.994791 0
u = —1.397660 + 0.0382121 5.01700 — 5.776051 0
u = —1.397660 — 0.0382121 5.01700 + 5.776051 0

u = —1.42214 + 0.217461 3.41028 — 0.732861 0

u = —1.42214 — 0.217461 3.41028 + 0.732861 0

u= 0.522256 4 0.1933801

—0.79956 + 5.078771

3.26255 — 6.363281

u= 0.522256 — 0.1933801

—0.79956 — 5.078771

3.26255 + 6.363281

u= 0.425921 4 0.3580051

—1.94719 — 1.774091

0.090741 + 0.3392791

u = 0.425921 — 0.3580051

—1.94719 + 1.774091

0.090741 — 0.3392791

u = —1.43304 4 0.237631

3.01862 — 8.320491

0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u =

—1.43304 — 0.237631

3.01862 + 8.320491

0

u = —0.121744 4 0.5304301

—0.35102 — 1.544091

0.33199 + 6.057431

u = —0.121744 — 0.5304307

—0.35102 4 1.544091

0.33199 — 6.057431

u= 143839+ 0.224511 6.28029 4 4.693661 0
u= 143839 — 0.224511 6.28029 — 4.693661 0
u= 1.45419+ 0.251301 5.02090 + 8.174461 0
u= 145419 — 0.251301 5.02090 — 8.174461 0
u = 1.46400 + 0.189411 5.93361 + 1.834281 0
u= 146400 — 0.189411 5.93361 — 1.834281 0
u = —1.46040 + 0.252701 9.7370 — 10.76891 0
u = —1.46040 — 0.252701 9.7370 4+ 10.76891 0
U 1.46013 + 0.255601 7.4888 + 15.86071 0
u= 146013 —0.255601 7.4888 — 15.86071 0
u = —1.46342 + 0.244451 11.01010 — 8.382791 0
u = —1.46342 — 0.244451 11.01010 + 8.382791 0
u= 146517+ 0.239001 9.95560 + 3.468641 0
u= 146517 — 0.239001 9.95560 — 3.468641 0
u = —1.47478 + 0.191571 10.64660 + 0.517311 0
u = —1.47478 — 0.191571 10.64660 — 0.517311 0
u = —1.47348 + 0.203361 11.62440 — 1.899991 0
u = —1.47348 — 0.203361 11.62440 + 1.899991 0
u= 147312+ 0.209951 10.39210 + 6.835661 0
uw= 147312 —0.209951 10.39210 — 6.835661 0
u= 147653+ 0.187421 8.50190 — 5.590851 0
u= 147653 — 0.187421 8.50190 + 5.590851 0

u = —0.459395 + 0.1105581

1.200510 — 0.6103501

7.99355 + 1.689981

u = —0.459395 — 0.1105581

1.200510 + 0.6103501

7.99355 — 1.689981




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 ¥+ 410 20+ 1
c2, Co WS -S4 2u—1
c3 u®" +uB® 4 -+ 200u — 676
€4, C5, C10 w4+ U+ 2 -1
cr w8 — 3u® ... 4+ 1868u — 369
Cs w4+ 116 4 —du 41
Cy,C12 ¥ —13u® + .+ 6720 — 23
c11 u® — 30 + - — 760u + 1491




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

1 BT+ 11y —dy — 1

C2,C6 v — A1y =2y -1
c3 y®7 — 25486 + ... 4 2553368y — 456976

C4,C5,C10 y87781y86+~~+6y271

cr y®7 +19y% + ... — 3993896y — 136161
(o] y877y86++276y71

Co, C12 v 4+ 7180 + ... — 2068y — 529

87 86

€11 Yol —=29y°° 4 - + 72372232y — 2223081




